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401 AlEHIZL 2 0HY| 3,831 60,329 N 56,498
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01 = LH 4 Hi 15,120 24,480 A 9,360
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OstEd gs24d=3 192,200
o s&=¢ 300,000 x40H <128 144,000
o sTdN=S 300,000& x40 #23| 24,000
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12 J|EtE4 = 4,249 4,249 0
OsEE MgdIs& XA 4,249
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A2 X 2,800 2,800 0
301 2N = 2,800 2,800 0
04 tSLHUHLH XA 2,800 2,800 0
OXsLHUE &sH XA 700,000& *43] 2,800
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02 =224l 3,000 3,000 0
OXXIEE A& ZbBIS X 3,000,000& 3,000
301 LetEA S 112,680 109,800 2,880
12 JIE24 3 112,680 109,800 2,880
OFUXXEE XAESAA 2&=
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o HlOl ¥xt=s 16,500& 20 x 123 396
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N = 0l & At & M A

2AM: &5
M UHXHE A2
ol MMEH BEXR (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
SE53 410,332 0 410,332
XY A2t 278,005 0 278,005
M sXH 195,031 0 195,031
SEHE AR E X 192,231 0 192,231
301 LPEAZF 192,231 0 192,231
05 8% -0 -tH¥ESE4S 189,700 0 189,700
OstEd gs24d=3 189,700
o s&=¢ 300,000& 40K x12& 144,000
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o BtEANZ 25,000 *50H »23] 2,500
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FoHS HIHAHRZE 3,330 0 3,330
SYUAET 29 3,330 0 3,330
201 L2l 3,330 0 3,330
01 At 2t 2l 3,330 0 3,330
OSgagzl 228 ¢
3,700,000& x0.9 3,330
HYRIZH(ZE58) 132,327 0 132,327
Jl2dH(&&58) 132,327 0 132,327




2N 558
BH: HYS YA (SE55)
©@el: D23 (5558) (22 &d)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
2B HRAS(EE5S) 132,327 132,327
201 £et23E | 78,166 78,166
01 At 22l bl 32,710 32,710
Oget+=ZH| 76,140 «10H * 128 +0.9 8,224
OANEZ&Hax= 10,392
o BJEEHI &x= 40,0003 #2CH x 12 960
o HIO &xtz 30,0003 2CH x12& 720
o 0 IXE 33,0008 *20H x12& 792
o S8 Xz 330,000& »2CH 12 7,920
O= &l 8,000 x10F x641x12& 0.9 5,184
ORZHAIAY 29 185,000& ~12& 2,220
Odstaaci 20 110,000& = 12& 1,320
O&Jletd 2ty & 200,000& »12& 2,400
OMEANAE(2A2) 2,970,000& * 14 2,970
02 s3=9Hl 45,456 45,456
O32x2= % MA 3,500,000 x12& 42,000
OAl £ &8s X 3,000,000& 3,000
OAMII=EXEY B2 38,000& x12& 456
202 O 4l 10,800 10,800
01 =LHO I 10,800 10,800
Os&0oH 10,0002 10 10 x 128 0.9 10,800
203 R =&Y 8,170 8,170
01 JI 2282 =2l 5,670 5,670
OJ2=2g8g=qdl 472,500& 128 5,670
02 & otatg 22| 400 400
O RFAH]| 40,0002 10 400
04 EN2SE 2T 2,100 2,100
ORN28E2FAH 175,000& =123 2,100
307 @1ztol & 15,000 15,000
05 22t & =3 15,000 15,000
OSEA A2 1,250,000 x 128 15,000
405 TtatF = 20,191 20,191
01 ML ESFHSH 20,191 20,191
ogEE EHo 320,000 = 1CH 320
oIE 2F7 220,000 = 1CH 220
Os EA 28 7¢ 19,651
o MXlctol& 200,000& 200
o ¥SHH 2,288,000 2,288
o M&E 6,480,000& 6,480
o 4| 266,000 266
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